Example

Determine the measure (in radians) of an angle whose terminal
arm passes through the ordered pair (—2J§ - 4)
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Unit Circle

Cos 9o = ?—: 0
unit circle

* acircle with radius
1 unit

* acircle of radius 1 unit
with centre at the
origin on the Cartesian
plane is known as the
unit circle
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The equation of the unit circle is x* + y* = 1.

Determine the equation of a circle with centre at the origin and

radius 6.
KHy =36



	Page 1: Feb 26-2:56 PM
	Page 2: Oct 2-8:46 AM
	Page 3: Feb 26-2:21 PM
	Page 4: Feb 26-2:26 PM

